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IECSRGBu4-Normhelligkeit I*

Ya=Yw - nc=100,

I lEcsroBua=50 (YY) /M2 (Y,=18, Y,/ 100<Y<=Y, )
I (3,6)=13 1% ,(18)=50,* ,(90)=191

log[i* /1 ]=

=36 TYy=90

IECSRGBu4
Normfarbwertdifferenz
Yoe=Yw - nc=100,
I lEcsroBua=50 (YY) 2(Y,=18, ¥,/ 100<Y<=Y, )
log(dY) = (1/1,2) log[1,2(,/50)] + [1~(1/1,2)] logY)

log(dY)=2,4Q m =

log AY/Y) IECSRGBu4

. Normfarbwertemfindlichkeit
=AY Yo=Y ne=100

nc
I lEcsroBua=50 (YY) 2(Y,=18, Y,/ 100<Y<=Y, )
log(dY/Y)= log[1,2(Y,/50)] - (1/1,2) log{/Y,,)
= (1/1.2) log[1,2(,/50)] - (1/1,2) log¥)

Anwendungs»
bereich

1
1Y,=18
Yn=36 ! Ygy=90

|IECSRGBu4

Normfarbwertkontrast
G Yo=Y ne=100

nc
I |EcsraBua=50 (Y/Yy) Y12(Y,=18, Y,/ 100<Y<=Y, o)
Iog(Y/dY)- log[1,2((,/50)] + (1/1,2) log{/Yg)

- (1/1,2) log[1, z«u/so)] + (1/1 2) logy)
I* (=50, dY,=2,40 Y, /aY,

|IECsRGBuA4 relative Normhelligkeit I*/I*
I Yoc=Yw - nc=100,

I |EcsraBus=50 (YY) 12(Y,=18, Y,/ 100Y<=Y,o)
I \(3,6)=13 1% ,(18)=50,I* (90)=191

log[i*/I* ]=0, m,=0,83

log(AY/AY,) IECSRGBu4 relative

Normfarbwertdifferenz
INUND Y=Yy ne=100,
I |EcsraBus=50 (Y/Y) 1 2(Y,=18, Y, /100Y<=Y,o)
log(dY/dY,) = [1~(1/1,2)] loglf/Y,)

Anwendungs-|
1 bereich

1y,=18
VN=3601 Y =90 W

log [(AY/Y) 1 AYIY),] IECSRGBuU4 relative
Normfarbwertempfindlichkeit
SISU=OYNAYY), yomy e

I |EcsreBus=50 (Y/Y) - 2(Y,=18, Y, /100Y<=Y,,o)
logl(dYM/(AYY),] = - (1/1,2) logl/Y,)

bereich

Ny
log[(dY/YY(dY/Y),]=0, m;=—0,83
I¥,=50, dY,=2,40 dY,/Y,=0,1333 | ¥,
1y,=18
Yn=3.6  Yw=90

log [(Y/AY) 1 (YIAY),] IECSRGBu4 relativer
Normfarbwertkontrast

ColCry =(YIAVI(YIAY)y v oy o 200,

I |EcsroBus=50 (YY) H2(Y, =18, Y, /100Y<=Y,o)
logl(Y/dY)/(Y/dY),] = (1/1,2) logiY/Y,)

IECSRGBu4-Normhelligkeit L*

L* Yoc=L*w - nc=100

L* 1csraBus=50 (Y/Yy) 12(Y, =18, Y,/ 100<Y<=Y, o)
L*(3,6)=13 L* ,(18)=50,L* (90)=191

BGW41-1A

logAY) IECSRGBu4
AY Normfarbwertdifferenz
YocmL*w - nc=100,
L* 1ecsraBus=50 (Y/Yy) (Y, =18, Y, /100<Y<=Y, o)
log(dY) = (1/1,2) log[1,2(,/50)] + [1~(1/1,2)] logY)

BGW41-3A

log AY/Y) IECSRGBu4

. Normfarbwertemfindlichkeit
S=(@AYH) YomL*w =100

nc’
L* 1ecsraBus=50 (Y/Yy) 1 2(Y,=18, Y, /100<Y<=Y, o)
log(@dY/Y)= log[L,2(Y,/50)] - (1/1,2) log¥/Y,)
= (1/1.2) log[1,2(,/50)] - (1/1,2) log¥)
N\

BGW41-5A

log (Y/AY) IECSRGBu4
Normfarbwertkontrast

C=(YIAY) VumLray =100,
L* lecsraBus=50 (Y/Yy) 12(Y =18, Y, /100<Y<=Y, o)
Iog(Y/dY)- log[1,2((,/50)] + (1/1,2) log{/Y)
- (1/1,2) log[1,2(,/50)] + (1/1 2) logy)
40 Y,/dY,=

BGW41-7A

BGW41-7N

TUB-Prufvorlage BGW4; IECSRGBuY4 & L* fur Y/Yy, Ync=(Y&L*)\wn
Absolute, relative Helllgkelt Empflndllchkelt&Kontraﬁh 50,00, 1y=

|IECsRGBuA4 relative Normhelligkeit L*/L* ,

LHIL* Yoc=L*w - nc=100,

L* lEcsraBus=50 (YY) /M2 (Y218, Y,/ 100<Y<=Y,o)
L* (3,6)=13 L* ,(18)=50,L* y(90)=191

BGW41-2A

log(AY/AY,) IECSRGBu4 relative

Normfarbwertdifferenz
INUNG YorL*y - n=100,
L* lEcsroBus=50 (YY) M 2(Y,=18, Y,/ 100<Y<=Y,,o)
log(dY/dY,) = [1~(1/1,2)] loglf/Y,)

Anwendungs
bereich

1y,=18
NN=3601 Y =90 T

BGW41-4A
log [(AY/Y) | (AYIY),] IECSRGBu4 relative
Normfarbwertempfindlichkeit
SISU=EYNAYN, v omte e 2160

L* lEcsraBua=50 (Y/Y,) M 2(Y,=18, Y,/ 100<Y<=Y,o)
logl( YY)l = - (1/1,2) logl/Y,)

bereich
)
log[(dY/YY(dY/Y),]=0, m,;=-0,83
N\
L* =50, dY,=2,40 dY,/Y,=0,1333 ]
1y =18
Yn=3,6  Y\=90

>

BGWA1-6A
log [(Y/AY) I (YIAY),] IECSRGBu4 relativer
Normfarbwertkontrast

ColCry=(YIBVI(YIAY)y y g S

nc
L* lEcsroBus=50 (YY) /1 2(Y,=18, Y,/ 100<Y<=Y,,)
log[(Y/dY)/(Y/dY),] = (1/1,2) logiY/Y,)

1 bereich
1y,=18
NNE3601 Ya =90 T

BGW41-8A
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